Mu|t|p|g bg 10, 100 and 1’000 o a) Draw counters on the place value charts to represent @

each calculation.

4.4 x 1

Th H Hth
° Complete the calculations and sentences. @ 4.4 x 10
Use place value counters to help you. - )
T H Ht
Th H T Tth Hth

4.4 x 100

Th H T Tth Hth

a) 23x10=| 23
(oo | 0O
When the number is multiplied by 10 the counters move | | OO o Yo

place to the left.

4.4 x 1,000

b) 23x100=| 230 . H r [ o i | w

When the number is multiplied by 100 the counters move Q
places to the left. & 00 + O o)
\0o0 | o
0 23x1,000=|2 200
When the number is multiplied by 1,000 the counters move 3 b) Complete the calculations.
places to the left.
44x1=| |, -4

44x10=| LU

Q Complete the diagram. ﬁ) 44x100=| LLO

[ 3.06 ]x—mb[ 306 ]x—mb[ 306 J 4.4 x1,000=| L,LOO

What do you notice? O)
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o Complete the calculations. @ e Write >, < or = to compare the number sentences.

a) 13.44x10=| [3L-L d 44x| 1,000 |=4,400 14 % 10 x 10 x 10 @ 1.4 x 1,000

b) 41.4x 100 =| L, L0 e | 103 |=1.03x100 1.4 x 10 x 100 @ 1.4 x 1,000

¢ 0.415x1,000=| LI5S f) 3044=| 2-0LL [x10 14 x 10 x 10 @ 1.4 x 1,000
1.4 x 10 x 2 @ 1.4 x 100

o Complete the diagrams. @
o Kim is calculating 14.3 x 200

X 10 x 10 x 10
7039 10 3°l —P 303 9q —_p 7,039 She writes this as her answer.

14.3 x 200 = 28.600

7039 ﬂ)} 703 - q x_10’ Explain Kim’s mistake.
She. han mutkidied 53 2 and added two

os. Sne handt conxdoed e gac value

x 1,000 .

What do you notice? Why does this happen? e Use the cards to complete the calculation.

!b% oL %M be  Same ggc& oNnsSwer b(cause You can use each card more than once.

10 X\0 x\0 =100 X\0 = |,000

(@

x 1 x 10 x 100 x 1,000

E-a. 0.002| ¥ \0O X100 %\, 000 | =2,000

How many ways is it possible to complete this calculation?

(@

Talk about it with a partner.
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